EARAZROREIERT — 2 N—XBISY —F 2016568198 (H) 3MEBR#H6H

ng S 1600AF ¥7%3m%tE GBE) UHETE] N>F \ (x8] Jl"ﬁ‘ [REmmE] - |4 (B) 12000 TR
[A&4£] 1 7 18,200,000 § 2 7% :7,300,000 § 3 3&:4,600,000 ™ 4 3% :2,700,000 9 5 & :1,820,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. N M. FL—-H 1:09. - 6| 104. 2 4 HhE— (FR)
RNV EE ¥ it 6 w7 (0_9)8 6-6 35.6 | 104.3 (_548) S
L:8=/F¥LlLy b B2TRIXE— B B2
A — # o6 | FIEHEZ 1:09.9 6-6 35.7 [103.3 | 1 484 | ETH= (RR)
217113 d—A1>JJL— b 56.0 (3/4) o) HEFIZ
L:TLeFFE2T B4 0%—Ta i 1E
. N R :10. — . . REAL (E#)
315l g|F=1>v v b i 6 & 171(1):5) 6-6 35.8102.3| 3 (5_048) o
R:T77NTS5T B:RTVLTTeA> HE77—L4
. . e AALLBATE : - #HAEE (EH)
4 10| HoveTLAa 6 o 1(/71(1):5) 14-13 | 34.8|102.4| 15 51_7:) Eﬁ;ﬁ,‘;
L:T7NHEy b BiAY 2T — b b AV
Ciy = — e MEAME :10. — . . AEE (EH)
5 6l 7EUT15 o6 o 1(*7105; 3-3 36.3101.3 | 12 (4_826) e
LA x5 B:YNZ—F EEPE NN
— N LEMKIG 1:10.1 — 6] 101. 11 4 HwHEYEZ (ER)
6 5| N=—Frk i 5 o (7%) 9-9 35.6 | 101.3 (g)2 il
L:7A7% B:xyx—Oq4vL =H =8
. = t 6 | NERAS 1:10.2 15-15 | 34.8(100.4| 9 478 | BRE (BR)
718l16| @V >F 1 X2 F g 5.0 (3/4) o) |HBEEE
L:xA1ZT7— BLVAZTLLT 4 — TS
5 = 5 | AEEN 1:10.3 10-9 35.7 ] 99.4 | 10 | 506 |=EEE (FH)
8 4| VYA hyT 54.0 (7€) (o) | TREHDR
LHIRTATFTR BiAT=ZUTIRb HIAZEy b
_ 5 4 g | ENEME 1:10.5 16-16 34.5| 97.5 | 13 514 | REEAL ()
9|5[10| T =7 NH¥ > 53.0 (1 1/ Ci) | WEBRE
LA —JIh7x B:avTrhyr A

: 5 | BEEE 1:10.5 10~ 9| 974 | 14 | 4 BERAIME (ER)
Eﬂ g|FUEE-FK Lie b oy 9 35.9| 9 (f;&) ke S

RiFUsELFalU— BiFURLFIN—Y g A

118!15 Z;,Ir)q/)jf_ s H 5 gﬁ)kﬁt 1:(11o>.7 10-12 | 35.8| 95.4 | 7 (ii) E%Eg (E®)

1217114 i:jj;::?_x e 4 6 EI:IIS.IOT'JT[/“/ 1;(121)_0 13-13  [35.9| 9.5 | 8 (ﬁg) %\igaﬂ(zﬁ)

N R 7—_,(7707,17 ] ‘ 46 SES%%HT 1(:11/12.; 3-5 37.2] 92.1 | 16 :1_724) ﬁ;iiﬁ (®R)
RYIRGTATTR BFA I EZNTT— L

A )[’Ej_f_“\o[’_ K it 5 %ﬂ‘é%%%ﬁ (11;111/.23) 528 37.5| 90.5 | 6 (:?g) ﬁ%g%ﬁﬁﬁiﬁﬁf)v_://d
Ry RYJYRIR BVIFIHEA S b J—HrTr—L

N . IR @5 | B A I R Rl I Il -5 e
R:oavFrehrT B4 AR TR PiYatse]

@ 71 L

) 47.3-36.3

NOA>24 L | 12.0-10.5-11.0-11.5-12.1-12.7

@ 11— F—EBIBAL

| 2=3zr=

230—7F—

d=zr= (¥2,7) (6,11)3-(1,9,13)5(4,8,15)14,12,16-10

43 —F— (¥2,7) (3,6)11(1,9,13) (5,4,8)-15(12,14) 16-10

0 ILRE

B OB 1 550 794K 1-13 360 & 1-7 470 & 1-9-13 1,500

7 B 1 180H 1-9 620H B = 1-13 950M JEH 1-13-9 7,800M

13 130M 9-13 330M B H 1-13 2,170
9 170M

ABICOVWTRDTEEERROODE. TR LIV,



